EARAZROREIERT — 2 N—XBISY —F 2015511818 (H) 16@E4R3H

m%ﬁyl —7C (hEBE) HSR2K% (w8 | 1mEmml - |5 5) oo s
[xE<£] 1 % :2,500,000 @ ~ 23 :500,000 M  37%&:225,000 M ~ 43%&:175,000 @ ~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . P 37, -1-1- 3 - £E—8 (&R
N BEEIS TR B2 iy 1(3_7)6 1-1-1-1 | 40.3 3 :1+325) zm 8
R:TFyTaAK BRERF o NI YIS
3 42 | EERA 1:37.7 4-5-3-3 |39.9| — 1 470 | RIlIHEZ (&R)
2 H 9|V~ /53 56.0 (7£) (-4) | B #ET7—L
L:T7vI7—L BILTAZXALyY b HET7— L
. = 4 o2 | BUIER 1:38.3 2-1-1-2 | 41.0| — 2 446 | PIHEZ (£R)
sl o Ex—T+ 55.0 3) () | B) HET7—L
R:24-1)>/0—- F:d—d—-ZZH HET7—L
Sy S S = o2 | PBED 1:38.4 5-4-5-5 | 40.5| — 6 496 | SBALEH (£R)
) 3 KA 5.0 (172) o | @ 77-2rEvas
R:T1—TZXh4 B:RvHhA4>a3a7 NRSEE R4S
s N 2 | HHEEAX 1:38. -3-4-4 | 40.7| — 7 423 | &H—& (£R)
5N 4| V2TV —N2E— # 55.0 (13/82)5 s 0 (+1g) ‘kEEiﬁif?-
L:ALT747 B:7ATI1I)— B #H—
S o 4 2 | BEB 1:38.8 6-7-6-6 |39.9| — 4 41 | £E-E (&R)
6188 Y3 aUNA 54.0 (1 1/2) 0 BEEC
R:@EyaAvAny B:tU/NH PR Y A ST
s = EFREA : -9-9- - £H—8 (&R
715|592 vT=UT o2 54.0 1('13/82')9 AR R s ::; e
L:ZEFa—FTUNTF4 B:TIAT7A—92 BLAKS
oL o2 | MEBES 1:39.4 7-6-7-7 | 40.7| — 5 426 | £H—8 (£R)
gl1l1|z=rnes 5.0 @172 oy |EEEE
R:FHhy¥<71x8 B:IIx N TUTo NARES
o — N 35BN 140, -8-7- . — EXRE (£R)
9l7!|7 IZFR—ILIFIZ 4 2 Basla 1(470)9 7-8-7-9 | 42.2 9 <4+331) et
LA aR—F— BiaAFxTNTa HFAL 8y K
® I—F—@EBIERL
13—7F— 6,2,4,9,3,8,(1,7),5
23=7r= (2,6),4,3,9,1,8,7,5
P =377= (2,6),9,4,3,8,(1,7),5
43—+ — 6,2,9,4,3,8,1,5,7
[ RN
B 6 640M 794K 6-9 210M & 6-8 400/ &R 2-6-9 240M
# B 6 110M 2-6 170H B 6-8 1,890 EE 6-9-2 3,050
9 1004 2-9 130H B = 6-9 470M
2 100 BB 6-9 1,640

ABICOVWTRDTEEERROODE. TR LIV,



